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7 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
s 1.00 | 0.00 ~ 5.18 64.53 | FnLSY | 000 ~ 0.00| 1.67 8.95 Thlst 1.00 | 6.00 ~ 6.60 64.53 | TS | 6,00 ~ 660 1.67 8.95
2 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 000 ~ 457 57.04 | FnRS | 000 ~ 4.57 | 1.99 10.66 Thst 1.00 | 6.00 ~ 5.40 57.04 | =hH | 5.00 ~ 6,40 1.99 10.66
3 100kN/mM%{8Z % — - ~ — — |3mZEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
st 1.00 | 000 ~ 478 59.51 | FnS | 000 ~ 478 1.72 9.23 Thlst 1.00 | 5.00 ~ 56.00 59.561 | =nhs | 6.00 ~ 6.00| 1.72 9.23
4 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m#%#B 2% — - ~ — — |3ImEBZ D -~ — — —
ZhLst 1.00 | 0.00 ~ 455 56.78 | #hS | 000 ~ 4.55| 1.90 10.16 st 1.00 | 5.00 ~ 6.00 56.78 | #nLs | 5,00 ~ 5.00| 1.90 10.16
5 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3mZEBZ D -~ — — —
s 1.00 | 0.00 ~ 703 89.16 | #nS | 000 ~ 7.03| 1.96 10.560 Thst 1.00 | 6.00 ~ 9.62 89.16 | =hs | 5.00 ~ 9.62| 1.96 10.50
p 100kN/mM%EBZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 000 ~ 622 78.04 | Tnhs | ooo ~ 622|176 941 st 1.00 | 6.00 ~ 7.20 7804 | TN | .00 ~ 720 1.76 941
7 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
FhList 1.00 | 0.00 ~ 4.04 50.65 | =nLS | 000 ~ 404 2.06 11.04 Fhst 1.00 | 6.00 ~ 56.00 50.65 | =nLS | 5,00 ~ 6.00| 2.06 11.04
P 100kN/mMZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 4.58 57.08 | =ns | 000 ~ 458 2.10 11.22 Thist 1.00 | 6.00 ~ 6.00 57.08 | =nLs | 5,00 ~ 6.00| 2.10 11.22
9 100kN/MZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
FhLst 1.00 1 0.00 ~ 4.76 59.32 | =nst | 0oo ~ 476\ 1.77 9.46 ZhLst 1.00 | 6.00 ~ 56.00 59.32 | #hs | 5,00 ~ 6.00|1.77 9.46
100kN/ M%#2Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
zhsn ~ ZznLst ~ znLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ TnLst ~ ZznLst ~ Zzhust ~
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




